
Inverse and Composite Functions



2

1 Given that 𝑓 𝑥 = 𝑥 − 9, find:

1(a) 𝑓−1 (𝑥)

[1 mark]

Answer

1(b) 𝑓−1 (4)

[1 mark]

Answer

2 Given that 𝑓(𝑥) = 5𝑥 − 3 ,find:

2(a) 𝑓−1 (𝑥)

[1 mark]

Answer

2(b) 𝑓−1 (3)

[1 mark]

Answer

Turn over for next question

Turn over ►
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3 Given that 𝑓 𝑥 =
𝑥−8

3
, find:

3(a) 𝑓−1(𝑥)

[1 mark]

Answer

3(b) 𝑓−1(10)

[1 mark]

Answer

4
Given that 𝑓 𝑥 =

−𝑥+2

4
, find:

4(a) 𝑓−1(𝑥)

[2 marks]

Answer

4(b) 𝑓−1(3)

[2 marks]

Answer

Turn over for next question

Turn over ►
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5 Functions 𝑓 and 𝑔 are defined by 𝑓(𝑥) = 2𝑥 + 4 and 𝑔(𝑥) = 3𝑥 + 1.  

5(a) Find the value of 𝑥 when  𝑓(𝑥) = 𝑔(𝑥)

[1 mark]

Answer

5(b) Find and simplify the expression for 𝑓𝑔(𝑥)

[2 marks]

Answer

5(c) Find and simplify the expression for 𝑔𝑓(𝑥)

[2 marks]

Answer

Turn over for next question

Turn over ►
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6 Given that 𝑓(𝑥) =
5

𝑥−1
and 𝑔(𝑥) = 4 − 2𝑥, find:

6(a) 𝑓𝑓−1 (−2)

[2 marks]

Answer

6(b) 𝑔𝑔(3)

[2 marks]

Answer

6(c) A simplified expression for 𝑓𝑔(𝑥).

[2 marks]

Answer

Turn over for next question

Turn over ►
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7(a) Given that 𝑓(𝑥) = 𝑥2 – 𝑎 and 𝑔(𝑥) = 𝑥 + 𝑏, find an expression for 𝑓𝑔(𝑥) in terms of 

𝑎 and 𝑏.

[2 marks]

Answer

7(b) If 𝑏 = 2𝑎, and 𝑎 = −3, what is the value of 𝑓𝑔(5)? 

[2 marks]

Answer

End of Questions

END
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